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This Question Paper consists of 32 questions [Section-A (22) + Section-B (5 + 5)] and 11 printed pages.
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General Instructions : 508
1 Candidate must write his’/her Roll Number on the first page of the Question Paper. i
2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.
3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.
4 Write your Question Paper Code No. 55/ASS/3, Set—A on the Answer-Book.
5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility for any
errors/mistakes in understanding the question will be yours only.
AT STJR9T oho)
1 odenel we-us & Ted YO WX U SbHich orasd fog | B
2 U AU Bl WG & foh UT-UF b P& IS qAUT UAT B I & e & A Yo IS b qEE HUX
B ¢ |39 9 B Sd W B o b U9 wik w4 H §
3 wa-yRae ® qeam-fag a9 sruan fids e % sifafiad w2 o srgeie faes 1 wlandt @ ey
EAT SR |

4 JUHT ITX-—GRABI U U9 &l dis der S5/ASS/3, we—-A e |
5 (®) WT-US haw [Eai/SS Hegw H ¥ | T off, afe oy O’ @ M &Y g foRdl U wtwr ¥ S9X T
gahd ¥ ¢
T, AT, HIWEY, TEpa ofik fadr |
FuAT IT-—giam ¥ fiu Tu giew § fog f6 oy fopg W F Iox e @ ¥
(@) afy oy & wd oeh & erfafvad fpdl g wron & SoR foEd ¥ Q1 99T & wEee ® BN dmn
Ffeat | et @ e haw sy BE |
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ENVIRONMENTAL SCIENCE (Theory)

e fmm (Re)
(333)
Time : 3 Hours] [Maximum Marks : 80
T 3 AR [t : 80
Note : (i) This Question Paper consists of two Sections, Section 'A' and Section 'B'.

(i) All the questions of Section 'A' are compulsory.

(iii)) Candidates are given a choice in Section 'B'. They are required to attempt
the questions from either "Option I" or "Option II".

(iv) Maximum marks of each question are indicated against it.

et : () WU A A @e & - W W g W q |
(i) @ve @ # Ry T wah v afrrd ¥ &E
(i) @ ‘@ ¥ fGu U oo yHg & Ok uw fobew ¥ W weW &k v T |
(iv) 9% 999 & o e fou T ¥ )

SECTION - A
Hog — H
1 What happens to the Lion when all the green plants and trees are removed 1
from the forest ? %ﬁg‘

o o F A e hY el s frew Ru oW E o 9% @ @ @ ?

2 Mention any three factors which force the villagers move into cities. 1

I A BRI B TdT BN $TH BT A0 g Bish 9B § 99 o & 7

55/ASS/3-333-A] 2 U TEArT PrV== Conmtd...

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

3 Which was recommended by the Montreal convention and protocol as a substitute 1
for CFC ?

CFC & U%h WY~ & &9 ¥ Aiead g9aq ofx fasifta (protocol) T fehaan

orgetar @1 ot 7 el

4 Give two examples for high yielding dwarf wheat varieties. 1

T B Sod SUSATEl M fRell % A IaEIO SRy |

5 Write one difference between paleolithic age and Neolithic age. 2

QAT 3R AU HEl W TH siay aaRy |

6 Mathew is shocked by the TV news in the clearance of ten thousand trees to 2
construct the new airport and as a result he planted twenty thousand plant saplings
along with his friends. How does the clearance of trees will result in soil erosion ?

g H EIA W YE TAER g4 & I8 AT @ 6 T4 gz @l 99 &
T 39 s gal & e H TEEAT BT A T | 396 ggE Ied ofad Rl
% WY FHaet 99 TR U @ | Gl @ B B R B U R JER

||

TET-FIRE W 7w

7 Classify the following into Biotic and Abiotic components : 2
Nitrogen, Cyclops, Sparrow, Amino acid, Penicillium and Humidity.
frefafea @ S ok ofta st § ihd B
IS, WS, O [afear, SHEl ofd, Uirafaad ot smsar |

8 Expand the following : 2
frrefafaa & g ™ fafeg
(a) WWF
(b) BMC
(c) NBA
(d) CITES
55/A88/3-333-A] 3 MR A AR T Contd..

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

9  Differentiate between anthropocentric and eco-centric environment. 2

AHahEd ok UIehiad qaiaeer ¥ siay SdiRu |

10 What is meant by village forests ? 2

THOT 99§ USRI T Ay &7

11  Define carbon tax. 2

FET BT F ARAT fREw | S

12 Expand CSE and mention two of its important publications. 2

CSE & g M fafey, ofX 3a% & Aeaqul YoMl & @df Hig |

13  Give reasons for the following : 4

(a) Density of tiger, leopards, lions, deer etc. is determined by the pugmarks left

by the animals in a defined area.

(b) Primary succession takes at very long time as compared to secondary

. . . EasE
succession which is very fast. ﬁ%
ffaRad &1 s IaEe

(a) drar, 9, 9%, BRI & FEAar @ R e @it & § 39 Siget g
BR U ug Rredl & fear wmar ¥

(b) Tadioe STIHAW dga A A & O 8, o 3@l ouem Wi STsmaw

Igq 9T @ 5 |
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14 Raveena is a research student. She goes to her uncle's village for her research 4
work. In the village she saw that her uncle is using DDT as pesticide and his
farm is closer to an electroplating industry which releases cadmium. Raveena
goes and educates her uncle about ill effects of DDT and cadmium.

(i) Name and explain the biological phenomenon associated with accumulation

. s EEE
of DDT in the food chain. E%

(1)) Write the causes and effects of cadmium.

T TH MY BET & | 98 39 MY B 6 (¢ Y 9rel % Mg Sl § |
g ® SE9 J@T fb UG A BT WHEF & ®9 H DDT & IWHW 6Id & waih
IRT WA Tsh UY IOFLIAST i aid SeNT & THIT & RUd or S hefmq &r
SO HIAT AT | AT 319 9/l % U T iR DDT Ud hsfem & gwwmEl
% I H wEEmr |

(i) wWE-—sEar § DDT & THHA & A & BRU &M a1l o feeT &1 A
IART qAT TGB! ARAT BT | 5%3

(i) HSPET & HRO X IOH BN ol gWWEl B T9l BT |

15 (i) In the following figure, the rise in temperature from the year 1880 to 2050 4
is shown. How will you name this temperature rise and explain this
environmental issue.

0.6 Global Mean Surface Temperature

——annual mean
—>5-year running mean
I uncertainty

0.4f

Temperature Anomaly (°C)

1880 1900 1920 1940 1960 1980 2000
Year
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(ii)) How acid rain does promote the heavy metals to affect the metabolism of plants

and microorganisms ?

(i) e T fom o, av 1880 & @t aW 2050 T B ATl ATIH—glg i Q0T
T E | 39 AOHE-ghE B ST FT A S qAT 39 BN AT TEieei g ol
AT BT | %‘3@

0.6 Global Mean Surface Temperature

——annual mean
——5—year running mean
I uncertainty

0.4}

Temperature Anomaly (°C)

1880 1900 1920 1940 1960 1980 | 2000
Year
(i) ofd a9l & HRU A Grge’ B wf goran fraar ¢ fEes wrer gl
3R Femsliadl & SUMEd UX YHE USdl § |

16 Energy conservation has been recognized as a national issue for long time.
As a responsible citizen of India, how would you consume energy for various

activities of your daily life ? %&ﬁm
o2 | B o A A o M o S e o L s A B | 1 B | Kt B e T
AN B & 1A, oMY 1w e siaw & fafy=r fopamaaral & fow =it &1 fopw

Yh IEHTA b P
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17 (i) Explain how excess of chemical fertilizers will result in algal blooming. 4

(1)) Mala and Rama both are living in the same village. Mala burns wood and cow
dung as a fuel for basic necessity. But Rama prepared bio gas from bio waste.
If you compare both Mala and Rama, you will prefer who is the better and why ?

(i) EmEE IATH B ATH TART B b YOS B ard STard-—Uehe ol
e FivT | R

(i) AT 3T AT U & 7M1 | @l & | AT TUHT AV STasaandial & g aebs!
3R TMEX &1 389 & €Y A FAKN & | AlBT T I FURTR § a4 qAR
HTAN & | TG T AT S THT Bl JAT BY, A 7 6 Fga¥ AT oK F=i 7

18 (i) How will you differentiate the three types of iron ores ? 4
(i1)) Define Bio-mining. Why it is economically feasible ?
() &MU dF YR & WE FF@ A X H w1 7
(i) oM Sg-w=q @ giwrn fatgw | onfe e @ a® w®& "@va ¥ ?

19 (i) The picture below shows different insects like Lacebug, White Grub and 6

Shoot Moth larva feeding on different parts of the same plant. %ﬂﬁm

Serpentine
_leaf miners

Root-feeding white grub

What does this picture depict ? Explain.
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(ii) Distinguish between :

(1)

(a) Estuaries and Deltas

(b) Western Ghats and Eastern Ghats E*%E

www.FirstRanker.com

I feg g o Ot @ie suiT T R S e, ®EC U9, 2 Ay
H ARG, S TH O NG & ffr= arn ¥ oo Hiew wew w) W@ ¥

Serpentine
leaf miners

Root-feeding white grub

e fa | gaman ® ?WW|E§E
[=*

(i) frfafed & efdx TRy -

(a) TR Y@ iR S
(b) ufyEHr Ge R @ =
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20 (i) “Urbanization and industrialization produces colossal quantities of waste.” 6
- Justify this statement.

(ii)) Discuss why slash and burn method of farming causes deforestation.

(iii) Mention any four states of India which still practices shifting cultivation.

(i) ol SR SR & B S8 Sl A0 § SURTE S~ & el
T - 39 BT B gRe HfT |

(i) A DI FAENT SR TAT fafy & BT I F el S § 2 G4l DI |

(iii) WRAIY & BHIF T TR YL B Iei@ BT STl ST | WHA JaTg bl
S %gﬁﬁ'

21 (i) State any four sources of CFC. 6
(ii)) How the presence of CFC in atmosphere will damage ozone layer ?

(iii) Write any two consequences of ozone layer depletion.
(i) CFC & &3 4R &l % AW aRy |

(i) araERT H CFC @ #ARE & ®RU S| Wd #& % & s ?
(iii) o T & e & @ik & o fofeg | REE

22 You went to an education trip by bus. You visited an industrial area along 6
with its new construction site, power plant and central hospital. Your bus was
stopped at the hotel for refreshment and then you left from there. Classify all
the wastes that you generated and observed there into different categories.

MY 99 R T AT 9HOT U T | 9 U Seifes & <@r foge g fFmir-
WA, IEaR-ie 3R B A w fl I@r | ofudl 99 WI9d & U UH g
WX EH SR A b ugAd d'f @ 9@ faw | emuw fafrer wem xR erafimet
B IO fpar olR <@m Te fafy= gftml o anfteor @i |
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SECTION - B
gs — q

OPTION -1
fped — 1

(Water Resource Management)

(T FaeE qaeq)

23 How does alum help in water treatment ? 1

S % SUAR ¥ el Y wewar wehl ¥ 7 S

24  Write the factors deciding the movement rate of ground water. 1

ol ®l TMA-3C Bl 0 & I BH qasy |

25 What is the role of potassium in the nutritional management of crops ? 2

T & qUO-yEET H R @ ;T i sl 8 7 2

26 Name any four non-porous materials which are used to prevent the evaporation 2
of crops.

HE U H SEAI Bl Vb b fau Rl Wr eidl weref % 9m sdmu |

27 On a visit to Taj Mahal - Agra during monsoon, Sam found river Yamuna 6
behind it. When Sam alongwith his friends approached the river shore, they
found many dead fish varieties along the shore and they also witnessed the
foul smelling river water. On the other shore they found enormous industries.

(a) What is the reason behind the foul smell of the river water ?

(b) Why the fishes lied dead on the shore ?

AT % S S Ryd detied &l 990 &I Y, 99 F 39k U® IAT a4l
® @ | e Sl % |y, @9 99AT-aC % §HIY Ugdl | 981 aC & feAT-fehAe
S A g3 oo WSiadl @i, qOT T4l b UMl § ¥ o Wl Y B W Tegd
frar | 7 % g R W SR oW erR@Ml Bl Al <@ |

(@) Wt ¥ | o W gy & R BRO AW 7

(b) TaI & fpX WX HAefwal F®@ A0 gSr 4 7
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OPTION - II
(ECT ||

(Energy and Environment)

(T W@ vamEr)
23  What happens if you are using ethanol as a fuel additive in your car ?
T BT T S AT AU HIX b [T e H IIATA HATRY TEHT hId & 7
24  State the process which converts the biocrude into gasoline, oil and kerosene.
SH URRAT H A IAIEY S STUNEpd IEE B e, da ik Mgt % oW A
EaE
SECICCURC AN
25 Biomass energy is renewable - Justify.
ST (Biomass) FWll AAGE Bl ¢ - gRe @Hifg |
26 How air is different from wind ?
g oY e ¥ SidX sawRy | F
27 (i) You are an owner of a leading factory. You want to save money by
conserving energy. Suggest some simple ways to save energy in your
factory.
(i1)) Do you think hydrogen will become a major source of energy ? Give reasons
for your answer.
(i) o9 TH Y@ %l & Wiae & | Y Fel-wL&0 & T8 g9 awd
T AT Bl ¥ F9l g9k PB W@ adel w1 gIE AT |
(i) oM M AT ¥ P FEINE ol B UH YgE A9 99 SO ? o 39X
% TudT o RO QR |
55/A88/3-333-A] T UMD TR 0T et
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